CONVERGENCE OF AN ITERATION LEADING TO A SOLUTION OF A RANDOM OPERATOR EQUATION

BINAYAK S. CHOUDHURY

B.E. College (Deemed University) Department of Mathematics Howrah, West Bengal, India 711103

M. RAY

Rashmoni Balika Vidyalaya Baruipur, West Bengal, India

(Received April, 1996; Revised June, 1998)

In the present paper, we define a random iteration scheme and consider its convergence to a solution of a random operator equation. There is also a related fixed point result.

Key words: Random Equation, Random Operator, Random Iteration, Fixed Point, Hilbert Space.

AMS subject classifications: 47H40, 47H10.

1. Introduction

In recent years, the study of different types of random equations have attracted much attention, some of which may be noted in [1, 5, 6] and [7]. In this paper, we discuss a random operator equation involving two operators in the context of Hilbert spaces. We have also a random fixed point result as a corollary. We also demonstrate our result for the corresponding deterministic case by an example.

Throughout this paper, (Ω, Σ) denotes a measurable space and H stands for a separable Hilbert space.

A function $f: \Omega \to H$ is said to be *measurable* if $f^{-1}(B) \in \Sigma$ for every Borel subset B of H.

A function $F:\Omega \times H \to H$ is said to be *H*-continuous, if $F(t, \cdot): H \to H$ is continuous for all $t \in \Omega$.

A function $F: \Omega \times H \to H$ is said to be a random operator, if $F(\cdot, x): \Omega \to H$ is measurable for every $x \in H$.

A measurable function $g: \Omega \to H$ is said to be a random fixed point of the random operator $F: \Omega \times H \to H$, if F(t, g(t)) = g(t) for all $t \in \Omega$.

A measurable function $g: \Omega \to H$ is said to be a solution of the random operator equation S(t, x(t)) = T(t, x(t)), where $S, T: \Omega \times H \to H$ are random operators, if S(t, g(t)) = T(t, g(t)) for all $t \in \Omega$.

Printed in the U.S.A. ©1999 by North Atlantic Science Publishing Company

The following result was established in [4]. We present this result as a lemma.

Lemma 1.1: Let H be a Hilbert space. Then for any $x, y, z \in H$ and any real λ , the following equality holds:

$$\| (1 - \lambda)x + \lambda y - z \|^{2}$$

= $(1 - \lambda) \| x - z \|^{2} + \lambda \| y - z \|^{2} - \lambda (1 - \lambda) \| x - y \|^{2}.$ (1.1)

We define the random iteration scheme as follows:

Definition 1.2: Random iteration scheme. Let $S, T: \Omega \times H \rightarrow H$ be two random operators defined on a Hilbert space H. Let $g_0: \Omega \rightarrow H$ be any measurable function. Define the following sequence of functions $\{g_n\}$

$$g_{n+1}(t) = (1 - \alpha_n)g_n(t) + \alpha_n h_n(t), \qquad (1.2)$$

where

$$h_n(t) = (1 - \beta_n) S(t, g_n(t)) + \beta_n T(t, g_n(t)),$$
(1.3)

$$0 < \alpha_n, \beta_n < 1 \text{ for all } n = 0, 1, 2, ...,$$
 (1.4)

$$\lim_{n \to \infty} \beta_n = M < 1,$$
(1.5)

and

$$\sum_{n=1}^{\infty} \alpha_n \beta_n = \infty.$$
 (1.6)

The construction of the iteration scheme is based on the same idea as that of Ishikawa's random iteration scheme [2]. But the present iteration is not a modification or generalization of that iteration.

A function $T: H \rightarrow H$ is said to satisfy *Tricomi's condition* if

$$Tp = p$$
 implies $||Tx - p|| \le ||x - p||$.

We define generalized Tricomi's condition for two operators in the following way. **Definition 1.3:** Generalized Tricomi's Condition. Two functions $S, T: H \rightarrow H$ are said to satisfy generalized Tricomi's condition if

$$Sp = Tp \text{ implies } ||Sx - p|| \le ||x - p||$$

$$(1.7)$$

and

$$||Tx - p|| \le ||x - p||.$$
(1.8)

2. Main Results

Theorem 2.1: Let $S, T: \Omega \times H \rightarrow H$, where H is a separable Hilbert space, be two random operators such that

- (a) S and T are H-continuous, and
- (b) there exists $f: \Omega \rightarrow H$ (not necessarily measurable) such that

$$(1-\lambda) || S(t,x) - f(t) ||^{2} + \lambda || T(t,x) - f(t) ||^{2} \le || x - f(t) ||^{2}$$
(2.1)

for all $t \in \Omega, x \in H$ and $0 < \lambda < 1$.

Then the random iteration scheme (Definition 1.2), if convergent, converges to a solution of the random operator equation

$$S(t, x(t)) = T(t, x(t)).$$
 (2.2)

Proof: For any $t \in \Omega$,

$$\begin{split} \| g_{n+1}(t) - f(t) \|^{2} &= \| (1 - \alpha_{n})g_{n}(t) + \alpha_{n}h_{n}(t) - f(t) \|^{2} \quad (by (1.2)) \\ &= (1 - \alpha_{n}) \| g_{n}(t) - f(t) \|^{2} + \alpha_{n} \| h_{n}(t) - f(t) \|^{2} \\ &- \alpha_{n}(1 - \alpha_{n}) \| g_{n}(t) - h_{n}(t) \|^{2} \quad (by (1.1)) \\ &\leq (1 - \alpha_{n}) \| g_{n}(t) - f(t) \|^{2} \\ &+ \alpha_{n} \| (1 - \beta_{n})S(t, g_{n}(t)) + \beta_{n}T(t, g_{n}(t)) - f(t) \|^{2} \quad (by (1.4) \text{ and } (1.3)) \end{split}$$

$$= (1 - \alpha_n) \| g_n(t) - f(t) \|^2 + \alpha_n \{ (1 - \beta_n) \| S(t, g_n(t) - f(t) \|^2 + \beta_n \| T(t, g_n(t)) - f(t) \|^2 - \beta_n (1 - \beta_n) \| S(t, g_n(t)) - T(t, g_n(t)) \|^2 \}$$
 (by (1.1)

or,

$$\begin{aligned} \alpha_{n}\beta_{n}(1-\beta_{n}) \| S(t,g_{n}(t)) - T(t,g_{n}(t)) \|^{2} \\ \leq (1-\alpha_{n}) \| g_{n}(t) - f(t) \|^{2} - \| g_{n+1}(t)) - f(t) \|^{2} \\ + \alpha_{n}\{(1-\beta_{n}) \| S(t,g_{n}(t)) - f(t) \|^{2} + \beta_{n} \| T(t,g_{n}(t)) - f(t) \|^{2} \} \\ & \text{for all } t \in \Omega \end{aligned}$$

$$(2.3)$$

or,

$$\begin{split} \alpha_n \beta_n (1 - \beta_n) \parallel S(t, g_n(t)) - T(t, g_n(t)) \parallel^2 &\leq (1 - \alpha_n) \parallel g_n(t) - f(t) \parallel^2 \\ &- \parallel g_{n+1}(t) - f(t) \parallel^2 + \alpha_n \parallel g_n(t) - f(t) \parallel^2 \text{ for all } t \in \Omega \qquad (\text{by } (2.1)) \end{split}$$

or,

$$\begin{aligned} \alpha_n \beta_n (1 - \beta_n) \| S(t, g_n(t)) - T(t, g_n(t)) \|^2 &\leq \| g_n(t) - f(t) \|^2 \\ &- \| g_{n+1}(t) - f(t) \|^2 \text{ for all } t \in \Omega. \end{aligned}$$
(2.4)

Summing up the inequalities in (2.4) over n, we obtain for all $t \in \Omega$,

$$\sum_{n=0}^{\infty} \alpha_n \beta_n (1-\beta_n) \| S(t,g_n(t)) - T(g,g_n(t)) \|^2 \le \| g_0(t) - f(t) \|^2 < \infty.$$
(2.5)

Let M < M' < 1. Then, by (1.5), there exists a positive integer m_0 such that $\beta_m < M'$, that is $1 - \beta_m > 1 - M'$ for all $m > m_0$.

This shows that

$$\sum_{m \equiv m_0}^{\infty} \alpha_m \beta_m (1 - \beta_m) \ge (1 - M') \sum_{m \equiv m_0}^{\infty} \alpha_m \beta_m = \infty.$$
(2.6)

(2.5) and (2.6) imply that, for all $t \in \Omega$,

$$\lim_{n \to \infty} \| S(t, g_n(t)) - T(t, g_n(t)) \|^2 = 0.$$
(2.7)

Let

$$g_n(t) \rightarrow g(t) \text{ as } n \rightarrow \infty.$$
 (2.8)

Since g_0 is measurable and H is separable, according to Himmelberg [3], g_n 's are measurable and, therefore, $g: \Omega \rightarrow H$ is measurable.

Again, S and T are H-continuous, which shows that $\lim_{n\to\infty}S(t,g_n(t))=S(t,g(t))$ and

$$\lim_{n \to \infty} T(t, g_n(t)) = T(t, g(t)) \text{ for all } t \in \Omega.$$

By (2.7) and (2.8), we have for all $t \in \Omega$,

$$S(t, g(t)) = T(t, g(t))$$
, where $g: \Omega \rightarrow H$ is a measurable function. (2.9)

This shows that the random iteration scheme if convergent, converges to a solution of (2.2).

Corollary 2.2: Let H be a separable Hilbert space and $S, T: \Omega \times H \rightarrow H$ be two random operators such that

(a) S, T are H-continuous, and

(b) there exists $f: \Omega \rightarrow H$ (not necessarily measurable) such that

$$||S(t,x) - f(t)|| \le ||x - f(t)||$$
(2.10)

and

$$||T(t,x) - f(t)|| \le ||x - f(t)||.$$
(2.11)

Then the random iteration scheme if convergent, converges to a solution of S(t, x(t)) = T(t, x(t)).

Proof: It is easily seen that (2.10) and (2.11) imply (2.1). The corollary then follows by Theorem 2.1.

Setting S as the identify random operator, that is, S(t,x) = x for all $t \in \Omega$ and

 $x \in H$, we obtain the following fixed point result as a corollary.

Corollary 2.3: Let H be a separable Hilbert space and T be a random operator which is H-continuous. Assume that there exists $f:\Omega \rightarrow H$ (not necessarily measurable) such that for all $t \in \Omega$

$$||T(t,x) - f(t)|| \le ||x - f(t)||.$$
(2.12)

Then the sequence of functions $\{g_n\}$, where $g_0: \Omega \rightarrow H$, is measurable and

$$g_{n+1}(t) = (1 - \alpha_n)g_n(t) + \alpha_n((1 - \beta_n)g_n(t) + \beta_n T(t, g_n(t))), \ n = 0, 1, 2, \dots$$
(2.13)

for all $t \in \Omega$, where $0 < \alpha_n$, $\beta_n < 1$, $\overline{\lim_{n \to \infty}} \beta_n < 1$, and $\sum_{n=1}^{\infty} \alpha_n \beta_n = \infty$ if convergent, converges to a random fixed point of T.

Corollary 2.4: Let $S, T: H \rightarrow H$ be two operators such that the following holds: there exists a $z \in H$ such that

$$(1-\lambda) || Sx - z ||^{2} + \lambda || Tx - z ||^{2} \le || x - z ||^{2},$$
(2.14)

for all $x \in H$ and $0 < \lambda < 1$.

Then the sequence $\{x_n\}$, obtained by the iteration

$$x_0 \in H, \tag{2.15}$$

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n((1 - \beta_n)Sx_n + \beta_nTx_n),$$
(2.16)

where

$$0 < \alpha_n, \beta_n < 1 \tag{2.17}$$

$$\overline{\lim_{n \to \infty}} \beta_n < 1 \tag{2.18}$$

and

$$\sum_{n=1}^{\infty} \alpha_n \beta_n = \infty, \qquad (2.19)$$

if convergent, converges to a solution of Sx = Tx.

The proof trivially follows from Theorem 2.1. It may be noted that the separability of H was required to ensure that g_n 's are measurable. In the statement of the corollary, H need not be separable.

Theorem 2.5: Let C be a convex and compact subset of a separable Hilbert space H and $S, T: \Omega \times H \rightarrow C$ be two random operators such that the following conditions are satisfied:

- (a) S, T are *H*-continuous,
- (b) there exists $f: \Omega \rightarrow H$ (not necessarily measurable) such that

$$(1-\lambda) || S(t,x) - f(t) ||^{2} + \lambda || T(t,x) - f(t) ||^{2} \le || x - f(t) ||^{2}$$
(2.20)

for all $t \in \Omega$, $x \in H$ and $0 < \lambda < 1$, and

(c) $S(t, \cdot), T(t, \cdot): C \to C$ satisfy Generalized Tricomi's condition for all $t \in \Omega$. Then for any measurable function $g_0: \Omega \to C$, the sequence of functions $\{g_n\}$ constructed by the random iteration scheme ((1.2)-(1.6)) actually converges to a solution of the random operator equation S(t, x(t)) = T(t, x(t)).

Proof: By the construction of $\{g_n\}$ it is seen that g_n 's are measurable functions from Ω to C for all $n = 0, 1, 2, \ldots$ Proceeding exactly in the same way as in Theorem 2.1, we have as in (2.7) that

$$\lim_{n \to \infty} \parallel S(t, g_n(t)) - T(t, g_n(t)) \parallel^2 = 0.$$

Therefore, for a fixed $t \in \Omega$, there exists a subsequence

$$\{g_{n_{i}}(t)\} \subset \{g_{n}(t)\} \text{ such that } \lim_{i \to \infty} \|S(t, g_{n_{i}}(t)) - T(t, g_{n_{i}}(t))\| = 0.$$
(2.21)

Again, C is compact, therefore, there exists $\{g_{n_i}(t)\} \subset \{g_{n_i}(t)\}$ such that $\{g_{n_i}(t)\}$ is convergent.

Let

$$\lim_{k \to \infty} g_{n_{i_k}}(t) = g(t) \text{ for } t \in \Omega.$$
(2.22)

Since S and T are H-continuous random operators, from (2.21), we have for any $t \in \Omega$,

$$S(t, g(t)) = T(t, g(t)).$$
 (2.23)

For any $t \in \Omega$,

$$\|g_{n+1}(t) - g(t)\|^{2} = \|(1 - \alpha_{n})g_{n}(t) + \alpha_{n}h_{n}(t) - g(t)\|^{2}$$

$$= (1 - \alpha_{n}) \|g_{n}(t) - g(t)\|^{2} + \alpha_{n} \|h_{n}(t) - g(t)\|^{2}$$

$$- (1 - \alpha_{n})\alpha_{n} \|g_{n}(t) - h_{n}(t)\|^{2}$$

$$\leq (1 - \alpha_{n}) \|g_{n}(t) - g(t)\|^{2} + \alpha_{n} \|(1 - \beta_{n})S(t, g_{n}(t)) + \beta_{n}T(t, g_{n}(t)) - g(t)\|^{2}$$

$$(by (1.3) and (1.4))$$

$$= (1 - \alpha_{n}) \|g_{n}(t) - g(t)\|^{2} + \alpha_{n} \|(1 - \beta_{n})S(t, g_{n}(t)) - g(t)\|^{2}$$

$$= (1 - \alpha_n) ||g_n(t) - g(t)||^2 + \alpha_n ((1 - \beta_n) ||S(t, g_n(t)) - g(t)||^2 + \beta_n ||T(t, g_n(t)) - g(t)||^2 + \alpha_n \beta_n (1 - \beta_n) ||S(t, g_n(t)) - T(t, g_n(t))||^2$$
(by (1.1))

$$\leq (1 - \alpha_n) \parallel g_n(t) - g(t) \parallel^2 + \alpha_n \parallel g_n(t) - g(t) \parallel^2$$

(by (2.23) and Generalized Tricomi's condition)

$$||g_{n+1}(t) - g(t)|| \le ||g_n(t) - g(t)||.$$
(2.24)

(2.22) and (2.24) together imply that

$$g_n \rightarrow g \text{ as } n \rightarrow \infty.$$
 (2.25)

Since H is separable, g_n 's are measurable [3], and, hence g is also measurable. From (2.23), g is a random solution of S(t, x(t)) = T(t, x(t)). This completes the proof.

We have the following obvious corollary.

Corollary 2.6: Let $S, T: H \rightarrow C$, where C is a compact and convex subset of a Hilbert space H are such that the following are satisfied:

S, T are continuous, (a)

(*b*) there exists $z \in H$ such that

$$(1-\lambda) || Sx - z ||^{2} + \lambda || Tx - z ||^{2} \le || x - z ||^{2}$$
(2.26)

for all $x \in H$ and $0 < \lambda < 1$, and

(c)S, T satisfy Generalized Tricomi's condition.

Then the sequence, defined as $x_0 \in C$,

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n((1 - \beta_n)Sx_n + \beta_nTx_n), \ n = 0, 1, 2, \dots,$$
(2.27)

where

$$0 < \alpha_n, \beta_n < 1, \tag{2.28}$$

$$\overline{\lim}_{n \to \infty} \beta_n < 1, \tag{2.29}$$

and

$$\sum_{n=1}^{\infty} \alpha_n \beta_n = \infty, \tag{2.30}$$

converges to a solution of the equation Sx = Tx. **Example:** Let $C = [0, 1], S, T: R \rightarrow [0, 1]$ be defined as

$$Sx = x^2/2$$
 if $x \in [0, 1]$
= 1/2 if $x > 1$
= 0 if $x < 0$

and

$$Tx = x^2/4$$
 if $x \in [0, 1]$
= 1/4 if $x > 1$
= 0 if $x < 1$.

With the choice of z = 0, the conditions of Corollary 2.6 are seen to be satisfied. Thus Corollary 2.6 applies to this example.

References

- [1] Bharucha-Reid, A.T., Random Integral Equations, Academic Press, New York 1972.
- [2] Choudhury, B.S., Convergence of a random iteration scheme to a random fixed point, J. Appl. Math. Stoch. Anal. 8 (1995), 139-142.
- [3] Himmelberg, C.J., Measurable relations, Fund. Math. LXXXVII (1975), 53-71.
- [4] Ishikawa, S., Fixed points by a new iteration method, Proc. Amer. Math. Soc. 44 (1974), 147-150.
- [5] Itoh, S., Nonlinear random equations with monotone operators in Banach spaces, *Math. Ann.* 236 (1978), 133-146.
- [6] Karamolegos, A. and Kravvaritis, D., Nonlinear random operator equations and inequalities in Banach spaces, Intern. J. Math. and Math. Sci. 15 (1992), 111-118.
- [7] Kravvaritis, D. and Papageorgiou, N.S., Existence and solutions for nonlinear random operator equations in Banach spaces, J. Math. Anal. Appl. 141 (1989), 235-247.